\ X =20

v

) 3x-4=8

o+

3x= 1%

2 3

X ="

3) Ha+ =13

1=

Ya =12

I

Sessrm [ ’I/]

Z.) X-94=223



— 2 -~
w6 - oK
% 2
p - B X
N Z
(5

CombINE li\'f

TELMS

o -|—-m§
Ly +5 Py < Gest
n VNU»\!)\‘Q'S \jb ]

s VS W‘\q“j
o+ 6+ (OX [Commv%‘lﬂ ] VA \O(;M



DQQ’T

C—-3X 4 13~ — 5

}"’3’;_“—5]

b AL -X-IX
| ~ 2% —L*gx)




Uy 4+ by -1S = 3 2) Combine fike
\_/\/_\—/ Fervns
2y -5 =3 e oot A
+\5 +15 \0}\
yp 5) o st
27%( _2_ X -3 §o\v€€
\\-DQL S-Le\o

|Oc = ¢ +CHCHCHFGHHCck

Ne— T~ —
|2 + \OC./’\’\: 24 | o
\ -
N g Caw
%+ (-H) lor=5 + 57 = ¥21
ch,—\—O"’7~q
—q -1
l[oc = 20 C=~



AN
5(4-3) -2t - -30

5t -\s -2t= -30

~_

2t -\ 5 =-30
,\,\g -P\g

KA
2k +14 - 8=12
2k +L=12
—|, —b
k-t
- 2

L--s




Homste shle Nab's ook bo
20*"‘"/W for 3 hours

NG Jresed  HamsTs Jo"’j SDM-’/W
P l‘/"\j \bmcue Ntz va‘"‘bl'\es
the Homsts




